ANSweER KEY
- EXTRA PRACTICE: Limiting and Excess Reactants Practice #2 Name:

1. 50.0 grams of sodium metal reacts with 60.0 grams of chlorine to produce sodium chloride. What is the LR. and E.R.?
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2. Inan S-Rreaction, 50.0 grams of zinc reacts with 30.0 grams of hydrochloric acid (HCI) to produce zinc chloride. How

2Na+ | C|292 Nacl

_5__°-°5 N"\l L | No | @ me) NaLl [s8.u4 s Not!

= |2 Nol]
! laqquNa\\g\Ma‘\ Na {\Mb‘ Na.C‘ 9

6o.b,4 C!;‘ [ wol Ua | % mal Nadjstg’,qq aq N
} ‘70.33dal lM.elCltl ‘[Mo\ Nall

= 9.9 5 Na ll

many grams of zinc chloride are produced?
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3. 40.0 grams of sodium iodide reacts with 50.0 grams of silver nitrate in a D-R reaction. How many grams of silver iodide
is produced?
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4. When 2.60 grams of hydrogen reacts with 10.2 grams of oxygen, water is produced. What is the L.R. and E.R.?
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5. How many grams of water are produced if 50.6 grams of magnesium hydroxide and 45.0 grams of hydrochloric acid
react in this D-R reaction?
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6. Ina D-R reaction of 30.0 grams of calcium nitrate and 50.0 grams of sodium phosphate, how many grams of calcium phosphate are
produced from the limiting reactant?
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7. 1f 100.0 grams of lithium carbonate reacts with 45.0 grams of magnesium sulfide, how many grams of magnesium carbonate are
produced from the limiting reactant in this D-R reaction?
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8. [f15.0 grams of copper (1) chloride react with 20.0 grams of lead (I1) nitrate in this D-R reaction, what is the L.R. and E.R.?
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